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BACHELOR OF SCIENCE (GENERAL) 

(BSCG)  

Term-End Examination 

December, 2022 

BBYCT-137 : PLANT PHYSIOLOGY AND 

METABOLISM 

Time : 2 Hours     Maximum Marks : 50 

Note : Q. No. 1 is compulsory. Attempt any four 

questions from Question Nos. 2 to 8.  

Draw well-labelled diagrams wherever 

necessary. 

1. (a) State whether the following statements are 

true or false : 1
2
×4=2 

(i) As the root hair absorbs water from 

the soil, its diffusion pressure deficit 
(DPD) decreases. 
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(ii) Plant contains more phosphorus than 
calcium. 

(iii) Cobalt is readily mobile in the plant. 

(iv) Some enzymes require additional 
factors which are called cofactors. 

(b) Fill in the blanks : 1×3=3 

(i) In CAM plants stomata are closed 
during ................... 

(ii) ................. enzyme converts N2 to 
NH3

(iii) Most of the membranes are permeable 
to ........... ion. 

. 

(c) Define the following terms : 1×5=5 

(i) Osmosis 

(ii) Stomatal frequency 

(iii) Vernalization 

(iv) Long day plant 

(v) Respiratory quotient 
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2. Describe the ‘Z’ scheme or zig-zag scheme of 
photosystem I and photosystem II working in 
tandem with well labelled diagram. 10 

3. (a) Discuss the criteria of essentiality of a 

mineral nutrient. 3 

(b) Define micronutrient and list any five 

micronutrients and discuss the role of any 

two micronutrients in plants. 7 

4. Give a comparative account of Auxins, 

Gibberellins and Cytokinins. 10  

5. Describe the reaction of Kreb’s cycle indicating 

the enzymes involved and sites of ATP 

synthesis with labelled schematic diagram. 10 

6. What is photoperiodism ? How are plants 

classified on the basis of day length ? Discuss 

the importance of dark period in flowering 

plants.   2+5+3 



 [ 4 ] BBYCT-137 

   

7. (a) List the theories which are proposed to 

explain mechanism of phloem transport, 

and explain any one of them. 5 

(b) What is biological stress ? List the various 

types of biological stress, and describe any 

one of them. 5 

8. Write short notes on any two of the following :  

5×2=10 

(i) Biological clock 

(ii) Chemosynthesis 

(iii) Structure of Chlorophyll-a 

(iv) Lock and key hypothesis for enzyme action 
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      BBYCT-137 

foKku Lukrd (lkekU;) (ch- ,l- lh- th-) 

l=kkar ijh{kk  

fnlEcj] 2022 

ch- ch- okbZ- lh- Vh--137 % ikni dkf;Zdh vkSj 

mikip; 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u Ø- 1 vfuok;Z gSA iz'u Ø- 2&8 rd fdUgha 

p kj iz'uksa ds mÙkj nhft,A tgk¡ dgha vko';d gks 

ogk¡ lqukekafdr vkjsf[kr fp=k cukb,A  

1- (d) crkb, fd fuEufyf[kr dFku lR; gSa ;k  

vlR; % 1
2 4=2×  

 (i) ewy jkse tc e`nk ls ty dks vo'kksf"kr 

djrs gSa] rks mldh forj.k nkc U;wurk 

(DPD) esa deh gks tkrh gSA 
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 (ii) ikniksa esa dSfY'k;e dh vis{kk iQkWLiQksjl 

T;knk gksrk gSA 
 (iii) dksckYV ikS/ksa esa vklkuh ls xhr'khy gksrk 

gSA 

 (iv) dqN ,Utkbeksa dks ,d vfrfjDr dkjd 

(iQSDVj) dh t:jr gksrh gS ftls dks& 

iQSDVj dgrs gSaA 

([k)  fjDr LFkkuksa dh iwfrZ dhft, % 1×3=3 

  (i)  dSe (CAM) ikniksa esa ja/z -----------------

  (ii)  

 ds le; 

can jgrs gSaA 
------------------

2N ,Utkbe  dks 3NH  esa cny 

nsrk gSA 
  (iii) T;knkrj dyk,¡ -------------------

(x)  fuEufyf[kr inksa dks ifjHkkf"kr dhft, % 1×5=5 

 vk;u ds fy, 

ikjxE; gksrh gSaA 

  (i)  ijklj.k 

  (ii)  ja/zkad 
  (iii) oalrhdj.k 

  (iv) nh?kZ nhfIrdkyh ikni 

  (v)  'olu HkkxiQy 
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2- izdk'kra=k I vkSj izdk'kra=k II dh Z ;kstuk ;k 

ftx&tSx ;kstuk tks feydj dke djrs gSa] dk o.kZu 

lqukekafdr fp=k lfgr dhft,A 10 

3- (d)  [kfut iks"kd dh vfuok;Zrk ds ekudksa dh 

foospuk dhft,A 3 

([k)  lw{e iks"kd dh ifjHkk"kk nhft,A fdUgha ik¡p 

lw{e iks"kdksa dh lwph cukb, vkSj fdUgha nks 

lw{e iks"kdksa dh ikniksa esa Hkwfedk dh ppkZ 

dhft,A 7 

4- vkfDluksa] ftcjSfyuksa vkSj lkbVksdkbfuuksa dk rqyukRed 

fooj.k nhft,A 10 

5- ØSCl pØ dh vfHkfØ;kvksa dk o.kZu mlesa 'kkfey 

,Utkbeksa vkSj ,- Vh- ih- la'ys"k.k ds LFkkuksa dks crkrs 

gq, lqukekafdr vkjs[k lfgr dhft,A 10 

6- nhfIrdkfyrk D;k gS \ fnu dh vof/ ds vk/kj ij 

ikS/ksa dks dSls oxhZd`r fd;k x;k gS \ ikS/ksa ds iq"iu 

esa vnhIr vof/ ds egRo dh ppkZ dhft,A 10 

7- (d)  iks"kokg vfHkxeu dh fØ;kfof/ dks le>kus 

okys fl¼kUrksa dh lwph cukb, ,oa muesa ls 

fdlh ,d fl¼kUr dh O;k[;k dhft,A 5 
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([k)  tSfod ruko D;k gS \ fofHkUu izdkj ds tSfod 

rukoksa dks lwphc¼ dhft, vkSj fdlh ,d dk 

o.kZu dhft,A 5 

8- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5×2=10 

(i) tSfod ?kM+h 

(ii) jlksla'ys"k.k 
(iii) DyksjksfiQy-a dh lajpuk 

(iv) ,Utkbe dh fØ;kfof/ ds fy, rkyk vkSj daqth 

ifjdYiuk 
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